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A AGR:) 1 &50cm 1§ 120cm #8 H 15cm m 18.0 | EPHIXIZ M
NN L=1.5m, K [ 9cm,@1.0m K 9.0 J
W B IE < B Y AHE R, t=10mm m2 26.7 J
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BIFT X [EET EE+T]
i B
oo HIEEE | (SR | Wik RIS SEFE W T A V&) STFE W =
(m) (m) (m2) (m2) (m3) (m2) (m2) (m3)
NO.0 0.00 0.00 3.1 - - 0.3 - -
NO.1 4.00 4.00 5.7 4.40 17.6 0.3 0.30 1.2
NO.2 5.00 5.00 2.9 4.30 21.5 0.4 0.35 1.8
& F 9.00 9.00 39.1 3.0




IREX T EERiER EEES

BIFT T IX 205/33
fiE R S I1| Bk Hifr | K & | B
gk 1.

R T 1%

B=3.50m EBAR 22 X 1524 X 3048 m 57.0 | IR XM




4 BR Ok - R BT & i§ &
AR
[=57.0m FXIE - R 3.048 X 1.524 X 38#« m2 176.5
EEk
22X1524X3048 |57m/1.524 B 38.0
TEHE 38# X 0.802t/#« t 30.5
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e BaHEERRR R (1)
R SRR SRR

T & i gl B B [HIEEz e A lElg R A il %

ERE T =X 1
PEEI T =X 1

bzl i m3 296 N—Rp

Pt m3 1,370 N—Rp
RELT =X 1
it INE m3 185
LB (54N m3 27
L EEIE T =X 1
LY G ) [1:1.8 m2 131
1:1.5 m2 72
7R AT = 1
7% 1 m3 1,395

AR+ m3 217 e+ T E R oD D IES -




(2)

A XY« SEEMIR R
THEXy : EE
T it gl B A lElg R i &
Wi L =X 1
fAET =X 1
e 1:1.8 m2 131
1:1.5 m2 72
BB =X 1
SEANT #8 #@H15cm m 94 JEBHE LY
RIS A 17 JEBHE LY
W HH B 1 4 £=10mm m2 130 JEBHE LY
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(3)

AT EA FEXS  KEHEIRFE
THXS - B E
T Ff il B #l ¥ BT EI{EIE= g IR gy T | =
IRE% T = 1.0
IR E%E T = 1
HEH m3 6 kg
- A+ m3 6 I
AR W=3. Om m 35 25. 7+9. 0
VGG IE T * .
TEHD U ERE - fR (&5 1
BERR V) ) - M2 -
HIH (&5 2
A B B bk A
fiiaanl 2
0.80X0.65=0.52
489%50:0. 52/ (0. 13X 0. 35)=121#
k) T +too5HE Ao m2 0.5 Fi1:12X0.02=0. 24m3




R AERE

BEEitE
P | B e &
LY GE) Hh L i A+ At
%+ i
H 296.3
HEL 1370.3
%1 185.2
26.5
LB 5.5 5.5
+o5%E 0.2 0.2
m3 mS m3 m3 m3
G At 1666.6 5.7 0.0 0.0 0.0 0.0 217.4
oAb ZR (i [ 12 | T HA ) 0.75 0.9 0.9
1250.0 5.1 0.0
ARt AL EE %O L&) 1255.1 m3
ARt W EEE %O &) 0.0 m3
Zgl &t (FiE%O &) 1255.1 m3
U (Moot &) 1394.6 m3
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b LA ) FA L H 1

s BB (m) -2 B (m) W 18 A (m2) K F (m3) W 18 A (m2) & F (m3) W 18 A (m2) & F (m3) i
i — 3.80 0.0 0.0 0.0
NO. 1 7.6 6. 50 0.0 23.8 154. 7
NO. 2 5.4 4.95 0.0 28.6 141. 6
& 4.5 2.25 0.0 0.0 0.0

2 17.5 0.0 296, 3 0.0

& 2 17.5 0.0 2063 0.0
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&t

s BB (m) -2 B (m) W 18 A (m2) K F (m3) W 18 A (m2) & F (m3) W 18 A (m2) & F (m3) i
i — 4.35 0.0 0.0
NO. 1 8.7 7.65 14.2 108.6
NO. 2 6.6 5.85 13.1 76.6
& 5.1 2.55 0.0

2 20.4 1852 0.0 0.0

& = 20.4 1852 0.0 0.0
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A Froc R EBALR (HEESH)

Bt
s BB (m) -2 B (m) W 18 A (m2) K F (m3) W 18 A (m2) & F (m3) W 18 A (m2) & F (m3)
i — 3.75 0.0 0.0
NO. 1 7.5 7.55 1.2 9.1
NO. 2 7.6 6.95 2.5 17.4
& 6.3 3.15 0.0
2 2L 265 0.0 0.0
& 2 21 4 265 0.0 0.0
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DYmFE(:1.8):63.8x2.059=131. 4m2
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d B R BAAR

I RRBE SRR R R

T e
B Bt (m) -2 (m) 1 f5{ (m2) AL fi (m3) 1 f5i (m2) AL f5i (m3) fii %
N — 0. 60 0.0 0.0

1.2 1.90 1.4 2.7 1.4 2.7 C=C’ T
2.6 2. 00 1.4 2.8 1.4 2.8 C=C’ T
1.4 0.70

I Bl B B 00

Lo Bl B B 00
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B ey
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iE v [l
P N - F

Jib—i— b FE@EEG01.0) A=52Z. ImZLGAE‘;T;E"U
%“*5 Y T 100 440 100 440 1.0
''m m mi | |
y /72 L ot L o]
A 7 i Z 7N | | . ) ) ; } -
PR B 2 2\, B =
PEHI
(2.40X2.40+4. 40X 4. 40) /2X1.0X2
‘ 25. 120 m3
A LR
1.60X1.00/2x0.30X%X39.3
‘ 9. 432 m3
TI—3— k
52.1X1.414+39.7
113. 369 m2

TN—— MiE

113m3X0. 1kg/m2=11. 3kg BE 7" 7 a5 A% %50. 35
0.0113 t =+0. 35=0. 032

0.032 m3




